
2 10A 2772
10

A
-2

277310A 2
10A

-2

ISO

ISO
  φ140 φ180

φ32 φ250 12

250mm 　　　　251 1000mm　　　　1001 2000mm

2

3

1

mm

      

        

10A-2

32・40・50・63

80・100・125

140 ・160

180 ・200・250

    

10A-2R

32・40・50

63・80・100

125・ 140

160

32・40・50

63・80・100

125・ 140

160

        

  

10A-2D

32・40・50・63

80・100・125

140 ・160

180 ・200・250

10A-2V2D

40・50・63

80・100

        

10A-2A2

バルセット

10A-2V2A2

40・50・63

80・100

10A-2V2 10A-2K2

40・50・63・80・100

0.1 1MPa

1.5MPa

50 700mm/s

−10 ＋70℃

0.17 0.7MPa

1.05MPa

50 500mm/s

＋5 ＋50℃

0.17 0.7MPa

1.05MPa

50 500mm/s

　＋5 ＋50℃

0.1 1MPa

1.5MPa

50 700mm/s

−10 ＋70℃

0.17 0.7MPa

1.05MPa

50 500mm/s

＋5 ＋50℃

0.1 1MPa

1.5MPa

50 700mm/s

−10 ＋70℃

＋1.0
　 　0　　

＋1.5
　 　0　　

＋2.0
　 　0　　

32 63  14mm 13mm
80・100  15mm ・
125  17mm 15mm
140 200  20mm ・
250  22mm ・

32 63  14mm 13mm
80・100  15mm ・
125  17mm 15mm
140・160  20mm ・
※

32 100  14mm
125  16mm
140 200  19mm
250  21mm

JIS 6g/6H

0 50mm

　 Conex

T S Y F F

CB/CD TA/TC TA/TC

SD ・ LB ・FA・FB
  CA・ CC ・CB・ CD
  TA・TC

SD ・ LB ・FA・FB
  CA・CB・TA・TC

SD ・ LB ・FA・TA・TC

1) 　 ISO  2     3) Conex

mm

32 40 50 63 80 100 125 140 160 180 200 250

10A-2K2

10A-2D

10A-2RD

10A-2V2D

10A-2

10A-2R

10A-2V2

10A-2K2D

10A-2A2

10A-2RA2

10A-2V2A2

10A-2K2A2

10A-2A1

10A-2K2A1

10A-2V2A1

10A-2RA1

10A-2Q1

10A-2RQ1

10A-2Q2

10A-2RQ2



2 10A 2774
10

A
-2

277510A 2
10A

-2

−T J● 10A−2 B

−T J● 10A−2R B

Conex

CB,CD,TA,TC

1,2, n
 (mm)

 (mm)

−−

−−

10A-2
10A-2R

10A-2D

10A-2A2

B
R
H
N

T  T
Y  Y
S  S
F  F F

       

●
  0
●
  

φ32

φ40

φ50・φ63

φ80・φ100

φ125

φ140・φ160・φ180・φ200

φ250

LNA−10Z−A

LNA−12Z−A

LNA−16Z−A

LNA−20Z−A

LNA−27Z−A

LNA−36Z−A

LNA−42Z−A

  

LB

LB

63

63

B

B

200

200 AH 2

φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160・φ180・φ200・φ250

φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160

φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160

J
JN
JK

ＬＢ 63 200 −Ｔ Ｊ● 10A−2V2 Ｂ

ＬＢ 63 −AH Ｔ Ｊ● 10A−2K2 Ｂ

Ｂ

Ｂ

−

−

−

− ２200 Ａ １

Ａ １

10A-2V2
10A-2K2

10A-2V2D

10A-2V2A2

１　AC100V 50/60Hz, ±
２　AC200V 50/60Hz, ±
８　DC24V

10％

10％

A　
B　
D　

C　3
E　3
M　

N　

P　 デテント

Q　3
R　3

32

32

 (mm)
40・50・63・80・100

DIN

DC24

R MM −−VS552

●

R
D
C
E

AC100V
AC200V

1
2

DC24V8

40 50
63 80

040
063

100100

R MM−VS552

●

R
D
C
E

AC100V
AC200V

1
2

DC24V8

1  

/
DIN /

RK
DL

DIN /DW

R
/

DIN /
RK
DL

DIN /DW

R

 SD  

 CA  

 TA  

 LB  

 CC  125 250

 TC  

 FA  

 CB  U

 FB  

 CD  U 125 250



2 10A 2776
10

A
-2

277710A 2
10A

-2

  
  

  
  

 

AX101CE

AX105CE

AX111CE

AX115CE

AX125CE

AX11ACE

AX11BCE

AX135CE

AF

AG

AH

AJ

AE

AK

AL

AM

DC 5 30V
AC 5 120V

DC 5 40mA
AC 5 20mA DC 1.5W

AC 2VA

AC 5 120V 5 20mA 2VA

DC 5 30V 5 40mA

DC 5 30V 5 40mA 1.5W

1.5m

5m

1.5m

5m

5m

0.5m

0.5m

5m

●  (SK-100)
       ●AX135CE B
       ●
       ●AX

DC 30V
AC 120V

DC 40mA
AC 20mA

BE

BF

CE

CF

AX201CE-1

AX205CE-1

AX211CE-1

AX215CE-1

1.5m

5m

1.5m

5m

C
E

CT

CU

CV

CW

CX

CY

AX211CE-1

AX215CE-1

AX21BCE-1

AZ211CE-1

AZ215CE-1

AZ21BCE-1

0.3mm22 4mm

0.3mm22 4mm

4

0.3mm2 2 4mm

4

0.3mm2 2 4mm

4

DC 5 30V 5 40mA −

/

/

1.5m

5m

0.5m

1.5m

5m

0.5m

AC 90 240V
DC 90 240V

B 0.3mm2 2 4mm5 300mA

30VA
0.3mm2 2 4mmDC 24 240V

AC 24 240V
5 300mAAX145CEAQ 5m

AX

●
          50mm TC 75mm
          
          
        ●
          
          

 类
φ32

800

800

800

800

φ40

1200

1200

1200

1200

1200

1200

1200

1200

φ50・φ63 φ80・φ100

1400

1400

1400

1400

1200

1200

1400

1400

1800

1800

1800

1800

1200

1200

1800

1800

φ125 φ160 φ180 φ250

2000

2000

1200

2000

2000

1200

  

   

1

2

TC

AX

25

25

120

50

50

120

mm

V

        mA

       MΩ

Hz

mA r.m.s

mA r.m.s

DC24VAC100V

90～132 180～264 21.6～26.4

50

34

22

60

32

20

AC200V

50

17

11

60

16

10

B

100

No.1,No.2 No.1 − ,No.2 ＋

− , ＋

D I N

DIN 75mA 1.8W
        65mA 1.6W

44 2



2 10A 2778
10

A
-2

277910A 2
10A

-2

A B C D A B C D 0

●
●
●
● W WF A KK

●TC PH

●
● A B

10A-2R SD63 B200- B   C AH2

A B

● TA AC AB
● 0

A W

KK

MM

PH

D B

A

C

/

32

40

50

63

80

100

125

140

160

0.05

0.07

0.05

0.07

0.07

AX

1.5m

0.13

0.13

0.13

0.14

0.15

5m

0.04

0.04

0.04

0.06

0.06

40

50

63

80

100

0.51

0.51

0.52

0.52

0.55

0.59

0.59

0.60

0.60

0.63

0.63

0.63

0.64

0.64

0.67

3
3

 　  (kg)＝ ＋ × ＋ ＋
              1mm × mm
 　 　   　   AX 1.5 　  2 　  LB    
              80mm　 200mm
　　　　     7.41＋ 0.05×2 ＋0.52＋0.86＋ 0.00916×200 ＝10.722kg

kg

kg kg

mm

SD 1mm

 
 LB FA FB CA CC CB CD TA TC CB

S T Y
F
F

32

40

50

63

80

100

125

140

160

180

200

250

  1.28

  1.74

  2.78

  4.18

  8.11

11.94

16.60

25.52

31.36

40.70

46.90

90.07

0.00345

0.00454

0.00779

0.00945

0.0135  

0.0153  

0.0242  

0.0398  

0.0365  

0.0535  

0.0593  

0.0635  

0.00251

0.00338

0.00534

0.00638

0.00916

0.00984

0.0154  

0.0223  

0.0222  

  1.12

  1.51

  2.40

  3.55

  7.17

10.52

13.94

21.49

26.38

  1.95

  2.99

  4.42

  8.35

12.18

  1.72

  2.61

  3.79

  7.41

10.76

0.08

0.11

0.20

0.20

0.36

0.36 

  2.59

  5.05

  6.18

  9.04

10.18

20.10

 

  2.86

  5.69

  6.73

  9.73

10.86

21.30

0.12

0.15

0.30

0.39

0.80

1.05

0.76

1.72

1.82

1.72

1.72

4.22

0.05

0.19

0.19

0.19

0.19

0.19

0.19

0.57

0.57

0.57

0.57

1.12

0.30

0.48

0.55

0.70

1.16

1.53

2.20

5.00

4.95

6.00

6.30

10.50

0.46

0.66

0.66

0.66

1.97

1.97

2.60

7.80

7.80

7.80

7.80

16.65

0.45

1.06

1.06

1.06

1.47

1.47

3.05

8.15

8.15

8.15

8.15

15.50

0.16

0.16

0.21

0.21

0.62

0.62

1.24

2.40

2.40

2.40

2.40

4.62

0.22

0.27

0.34

0.34

0.87

0.87

1.47

3.32

3.32

3.32

3.32

5.93

0.10

0.10

0.38

0.38

0.72

1.30

2.47

4.30

4.30

0.19

0.23

0.36

0.46

0.86

1.12

2.00

2.83

3.22

5.69

6.12

8.38

  0.18

  0.25

  0.40

  0.55

  1.38

  1.99

  2.58

  4.38

  5.48

  7.22

  8.30

15.70

  0.24

  0.32

  0.50

  0.65

  1.59

  2.20

  2.58

  4.38

  5.48

  7.22

  8.30

15.70

0.12

0.18

0.26

0.42

1.08

1.39

0.57

0.94

1.35

1.25

1.25

3.23

TA/TC



2 10A 2780
10

A
-2

278110A 2
10A

-2
mmmm

5

B D

A

BD

C

RR

E 10

MM

B1

KK

h

A W FP

2-EE

P＋

ZJ＋

ZB＋

2×4-DD

F

BB

J H＋

LF＋

K

BB

P＋

B D

A

BD

C

MM

B1

KK

h
10
VF

A WF

2-EE

ZJ＋

ZB＋

2×4-DD

RR

RE

E 14

J

BB

H＋

LL＋

K

BB

YP

10A-2 SD     B   

φ32 φ100

φ125 φ250

A

32

40

50

63

80

100

125

140

160

180

200

250

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

BB

7

7

7

9

10

10

13

16

16

16

16

19

D

10

13

19

19

22

22

27

36

36

36

36

41

DD

　M6×1

　M6×1

　M6×1

　M8×1.25

※M10×1.25

※M10×1.25

※M12×1.5

※M16×1.5

※M16×1.5

※M16×1.5

※M16×1.5

※M20×1.5

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

K

32

40

50

63

80

100

125

140

160

180

200

250

25

25

25

25

32

32

32

38

38

38

38

50

RR

□33

□37

□47

□56

□70

□84

□104

□123

□134

□156

□163

□202

VF

21

25

25

25

25

30

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

LF

103

103

103

106

124

124

LL

114

131

131

131

131

162

□65

□76

□76

□76

□76

□90

MM

12

16

22

22

25

25

32

40

40

40

40

45

P

58

58

58

61

67

67

73

85

85

85

85

109

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

RE YP

27

29

29

29

29

30

ZB

125

125

125

130

153

153

162

188

188

188

188

229

ZJ

118

118

118

121

143

143

149

172

172

172

172

210

※A 　

SD
CAD/DATA10A-2/TA2   

DD

80

100

125

140

160

180

200

250

M10×1.5

M10×1.5

M12×1.75

M16×2

M16×2

M16×2

M16×2

M20×2.5

M10×1.25

M10×1.25

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

1996 DD
※

SD

1995 12 1
No512



2 10A 2782
10

A
-2

278310A 2
10A

-2

5

AE

AH
AT

DB

A

BD

C

MM

B1

KK

SA＋

H＋

R

UA

2×2-AB

AO
AL F J K AL

AO

2-EE

P＋

XA＋

h
A W FP

E 10

A

BD

C

DB

14E

RE

AE

AH
AT

MM

B1

KK

SA＋

H＋

R

UA

2×2-AB

AO AO
AL J K AL

2-EEh

A WF

VF

YP P＋

XA＋

φ32 φ100

φ125 φ250

φ32 φ160 φ40 φ100 φ40 φ100

LB 125 250 C

10A-2 LB     B   

32

40

50

63

80

100

125

140

160

180

200

250

AB

9  

12

12

12

14

14

18

22

22

22

22

26

B

24

30

34

34

39

39

46

55

55

55

55

60

AE

55

60

72

86

106

123

148

171

187

215

226

276

AH

33

35

41

48

59

66

79

93

98

115

118

141

AL

23

25

26

28

34

34

43

50

50

55

55

60

AO

10

12

12

12

14

14

18

22

22

22

22

24

B1

17

19

22

22

27

27

36

50

50

50

50

60

D

10

13

19

19

22

22

27

36

36

36

36

41

AT

5

5

6

6

8

8

10

10

10

15

15

15

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

34

34

34

34

43

43

FP

32

40

50

63

80

100

125

140

160

180

200

250

K

25

25

25

25

32

32

32

38

38

38

38

50

J

38

38

38

38

45

45

45

50

50

50

50

57

h

  6

  7

10

10

12

12

16

20

20

20

20

22

H

30

30

30

33

31

31

37

43

43

43

43

55

VF

21

25

25

25

25

30

SA

149

153

155

162

192

192

200

231

231

241

241

282

UA

54

60

70

80

97

114

138

156

178

200

216

270

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

XA

141

143

144

149

177

177

192

222

222

227

227

270

MM

12

16

22

22

25

25

32

40

40

40

40

45

P

58

58

58

61

67

67

73

85

85

85

85

109

R

33

37

47

56

70

84

104

123

134

156

163

202

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE YP

27

29

29

29

29

30

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

LB

mmmm

CAD/DATA10A-2/TA2   



2 10A 2784
10

A
-2

278510A 2
10A

-2

A

BD

C

DB

10E

EF R MM

B1

KK

LF＋

H＋

TF

UF

4-FB

W

JF5 K

BB

2-EEh

A WF YP P＋
ZB＋

A

BD

C

DB

14E

RE

EF R MM

B1

KK

LF＋

H＋

TF

UF

4-FB

W
JF5 K

BB

2-EEh

A WF YP P＋

ZB＋

φ32 φ100

φ125 φ250

φ32 φ160 φ40 φ100 φ40 φ100

10A-2 FA     B   φ140 φ180 ISO

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

BB

7

7

7

9

10

10

13

16

16

16

16

19

D

10

13

19

19

22

22

27

36

36

36

36

41

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

16

20

20

20

20

25

EF

47

52

65

76

95

115

138

156

178

200

216

270

7

7

9

9

12

12

14

18

18

18

18

22

FB H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

32

40

50

63

80

100

125

140

160

180

200

250

K

25

25

25

25

32

32

32

38

38

38

38

50

J

38

38

38

38

45

45

45

50

50

50

50

57

UF

72

84

104

116

143

162

196

226

248

270

286

356

TF

58

70

86

98

119

138

168

190

212

234

250

312

W

15

15

15

15

19

19

19

21

21

21

21

23

WF

25

25

25

25

35

35

35

41

41

41

41

48

LF

103

103

103

106

124

124

130

151

151

151

151

187

MM

12

16

22

22

25

25

32

40

40

40

40

45

R

33

36

47

56

70

84

104

123

134

156

163

201

P

58

58

58

61

67

67

73

85

85

85

85

109

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE YP

24

24

24

24

27

27

27

29

29

29

29

30

ZB

125

125

125

130

153

153

162

188

188

188

188

229

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

mmmm

FA
CAD/DATA10A-2/TA2   



2 10A 2786
10

A
-2

278710A 2
10A

-2

A

B D

C

D

5

B

10 E

EFRMM

B1

KK

LF＋

H＋

TF

UF

4-FB

KJF

F

2-EEh
A W FP P＋

ZF＋

A

B D

C

DB

14 E

EFRMM

B1

KK

LL＋

H＋

RE

TF

UF

4-FB

KJ
F

2-EEh
A WF YP

VF

P＋

ZF＋

φ32 φ100

φ125 φ250

10A-2 FB     B   φ140 φ180 ISO

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

D

10

13

19

19

22

22

27

36

36

36

36

41

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

EF

47

52

65

76

95

115

138

156

178

200

216

270

F

10

10

10

10

16

16

16

20

20

20

20

25

FB

7

7

9

9

12

12

14

18

18

18

18

22

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

K

32

40

50

63

80

100

125

140

160

180

200

250

25

25

25

25

32

32

32

38

38

38

38

50

VF

21

25

25

25

25

30

UFTF

72

84

104

116

143

162

196

226

248

270

286

356

58

70

86

98

119

138

168

190

212

234

250

312

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

LF

103

103

103

106

124

124

LL

114

131

131

131

131

162

33

36

47

56

70

84

104

123

134

156

163

201

MM

12

16

22

22

25

25

32

40

40

40

40

45

P

58

58

58

61

67

67

73

85

85

85

85

109

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

R

□65

□76

□76

□76

□76

□90

RE YP

27

29

29

29

29

30

ZF

128

128

128

131

159

159

165

192

192

192

192

235

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

φ32 φ160 φ40 φ100 φ40 φ100

mmmm

FB
CAD/DATA10A-2/TA2   



2 10A 2788
10

A
-2

278910A 2
10A

-2

D

5

B

10 E

MM

B1

KK XC＋
ZC＋

H＋ K EWJF T

2-EEh
W P＋

CD

MR

LR

A FP

A

B D

C

DB

MM

B1

KK XC＋
ZC＋

H＋

RE

K LJ

2-EEh
A WF YP

VF
P＋

CD

MR

LR

14 E
EW

A

B D

C

DB

MM

B1

KK XC＋
ZC＋

H＋

RE

K LTJ

2-EEh
A WF YP

VF
P＋

CD

MR

LR

14 E
EW

A

B D

C

φ32 φ100

φ125 φ250

10A-2 CA     B   

10A-2 CC     B   

φ125 φ250

φ140 φ180
ISO

CC ISO

φ32 φ160 φ40 φ100 φ40 φ100

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

D

10

13

19

19

22

22

27

36

36

36

36

41

CD

12H9

14H9

14H9

14H9

20H9

20H9

20H9

28H9

28H9

28H9

28H9

36H9

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

EW

16

20

20

20

32

32

32

40

40

40

40

50

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

K

25

25

25

25

32

32

32

38

38

38

38

50

KKh

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

CA

L

32

40

50

63

80

100

125

140

160

180

200

250

32

38

38

38

38

54

CC

36

44

44

44

44

58

CA

XC

137

137

137

140

175

175

181

210

210

210

210

264

CC

199

236

236

241

241

298

CA

ZC

149

151

151

154

195

195

201

238

238

238

238

300

CC

219

264

264

269

269

334

CA

LR

R17

R17

R19

R19

R26

R27

R22

R30

R30

R30

R30

R42

CC

R26

R32

R32

R32

R32

R46

VF

21

25

25

25

25

30

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

MR

R14

R16

R17

R17

R22

R22

R22

R30

R30

R30

R30

R44

MM

12

16

22

22

25

25

32

40

40

40

40

45

P

58

58

58

61

67

67

73

85

85

85

85

109

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE

  8

  8

10

13

18

18

14

20

20

25

25

30

T YP

27

29

29

29

29

30

　0
−0.070
　0
−0.084
　0
−0.084
　0
−0.084
　0
−0.100
　0
−0.100
　0
−0.100
　0
−0.100
　0
−0.100
　0
−0.100
　0
−0.100
　0
−0.100

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

mmmm

CA
CAD/DATA10A-2/TA2   

CC



2 10A 2790
10

A
-2

279110A 2
10A

-2

D

5

B

10 E

MM

B1

KK XC＋
ZC＋

H＋ K EW

CP

JF T

2-EEh
A W FP P＋

CD

MR

LR
A

B D

C

UB

DB

MM

B1

KK XC＋
ZC＋

H＋

RE

K LJ

2-EEh
A WF YP

VF
P＋

CD

MR

LR

14 E

EW
UB

CP

A

B D

C

DB

MM

B1

KK XC＋
ZC＋

H＋

RE

K LTJ

2-EEh
A WF YP

VF
P＋

CD

MR

LR

14 E

EW
UB

CP

A

B D

C

φ32 φ100

φ125 φ250

10A-2 CB     B   

10A-2 CD     B   

φ32 φ160 φ40 φ100 φ40 φ100

φ125 φ250

φ140 φ180
ISO

CD ISO

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

D

10

13

19

19

22

22

27

36

36

36

36

41

CP

46

58

66

66

78

78

78

97

97

97

97

117

CD

12

14

14

14

20

20

20

28

28

28

28

36

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

EW

16

20

20

20

32

32

32

40

40

40

40

50

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

K

25

25

25

25

32

32

32

38

38

38

38

50

KKh

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

CB

L

32

40

50

63

80

100

125

140

160

180

200

250

32

38

38

38

38

54

CD

36

44

44

44

44

58

CB

XC

137

137

137

140

175

175

181

210

210

210

210

264

CD

199

236

236

241

241

298

CB

ZC

150

150

152

155

196

196

201

238

238

238

238

300

CD

219

264

264

269

269

334

R18

R18

R19

R19

R32

R32

R26

R32

R32

R32

R32

R46

VF

21

25

25

25

25

30

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

MR

R15

R15

R18

R18

R23

R23

R22

R30

R30

R30

R30

R44

MMLR

12

16

22

22

25

25

32

40

40

40

40

45

P

58

58

58

61

67

67

73

85

85

85

85

109

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE

  8

  8

  8

  8

11

11

14

20

20

25

25

30

T

 32

44

52

52

64

64

64

80

80

80

80

100

UB YP

27

29

29

29

29

30

＋0.7
＋0.5
＋0.7
＋0.5
＋0.7
＋0.5
＋0.7
＋0.5
＋0.7
＋0.5
＋0.7
＋0.5
＋0.7
＋0.5
＋0.8
＋0.5
＋0.8
＋0.5
＋0.8
＋0.5
＋0.8
＋0.5
＋0.8
＋0.5

H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8
H9
f 8

LR

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A

mmmm

CB
CAD/DATA10A-2/TA2   

CD



2 10A 2792
10

A
-2

279310A 2
10A

-2

A

C

D

5

B

10

MM

B1

KK

H＋ K

TL

E TD

TR

TM

UM

TL

J

XG

F BB

2-EEh
A W FP P＋

ZB＋

BD

A

C

DB

14

MM

B1

KK

H＋ K

TL TL

E TD

TR

TM

UM J

XG

BB

2-EEh
A

VF

YPWF P＋

ZB＋

BD

RE

φ32 φ100

φ125 φ250

10A-2 TA     B   

TA
TA C

φ32 φ160 φ40 φ100 φ40 φ100

φ140 φ180 ISO

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

BB

  7

  7

  7

  9

10

10

13

16

16

16

16

19

D

10

13

19

19

22

22

27

36

36

36

36

41

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

32

40

50

63

80

100

125

140

160

180

200

250

K

25

25

25

25

32

32

32

38

38

38

38

50

VF

21

25

25

25

25

30

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

MM

φ12

φ16

φ22

φ22

φ25

φ25

φ32

φ40

φ40

φ40

φ40

φ45

TL

16

25

25

25

25

25

25

36

36

36

36

45

XG

44

44

44

44

57

57

57

66

66

66

66

76

ZB

125

125

125

130

153

153

162

188

188

188

188

229

TR

R1

R1.6

R1.6

R1.6

R1.6

R2

R2

R2.5

R2.5

R2.5

R2.5

R3

TM

44

50

63

76

95

114

139

156

178

200

216

270

UM

76

100

113

126

145

164

189

228

250

272

288

360

TD

16e9

25e9

25e9

25e9

25e9

25e9

25e9

36e9

36e9

36e9

36e9

45e9

P

58

58

58

61

67

67

73

85

85

85

85

109

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE YP

27

29

29

29

29

30

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

mmmm

TA
CAD/DATA10A-2/TA2   



2 10A 2794
10

A
-2

279510A 2
10A

-2

A

C

D

5

B

10

MM

B1

KK

XI＋1 2 ＝PH

H＋ K

TL TL

UW TD

TR

TM

E

UM F J BB

2-EEh

A W FP

BD

P＋

ZB＋

BD

A

C

DB

14

MM

B1

KK

XI＋1 2 ＝PH

H＋ K

TL TL

RE

TDUW

TR

TM

E

UM J BB

2-EEh
A WF YP

VF BD

P＋

ZB＋

BD

φ32 φ100

φ125 φ250

10A-2 TC     B   φ140 φ180 ISO

φ32 φ160 φ40 φ100 φ40 φ100

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

B1

17

19

22

22

27

27

36

50

50

50

50

60

BB

  7

  7

  7

  9

10

10

13

16

16

16

16

19

D

10

13

19

19

22

22

27

36

36

36

36

41

BD

30

30

30

30

35

40

43

53

53

53

53

58

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

F

10

10

10

10

16

16

34

34

34

34

43

43

FP H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

J

38

38

38

38

45

45

45

50

50

50

50

57

32

40

50

63

80

100

125

140

160

180

200

250

K

25

25

25

25

32

32

32

38

38

38

38

50

VF

21

25

25

25

25

30

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

MM

12

16

22

22

25

25

32

40

40

40

40

45

TL

16

25

25

25

25

25

25

36

36

36

36

45

XI

78   

78   

78   

79.5

95.5

95.5

98.5

112.5

112.5

112.5

112.5

132.5

ZB

125

125

125

130

153

153

162

188

188

188

188

229

TR

R1

R1.6

R1.6

R1.6

R1.6

R2

R2

R2.5

R2.5

R2.5

R2.5

R3

TM

55

63

76

88

114

132

158

183

200

228

246

304

UM

87

113

126

138

164

182

208

255

272

300

318

394

UW

52

59

71

86

104

128

158

183

200

228

246

304

TD

16e9

25e9

25e9

25e9

25e9

25e9

25e9

36e9

36e9

36e9

36e9

45e9

P

58

58

58

61

67

67

73

85

85

85

85

109

  3

  3

  3

  0

  7

12

  9

13

13

13

13

  6

TC
PH

78

78

78

78

98

100

102

119

119

119

119

134

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

□65

□76

□76

□76

□76

□90

RE YP

27

29

29

29

29

30

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

mmmm

TC
CAD/DATA10A-2/TA2   



2 10A 2796
10

A
-2

279710A 2
10A

-2

TA A

32

40

50

63

80

100

125

140

160

RV

  68

  72

  82

  94

110

120

146

162

178

RY

34

36

41

47

55

60

73

81

89

UX1

5

5

5

6

4

4

11

14

14

UX2

5

5

5

6

4

4

7

11

11

32

40

50

63

80

100

125

140

160

AX1※※

5～10

7～11

8～12

10～15

2

AX2※※

3～6

3～7

4～7

5～8

1

UX

mmmm

   

1

2

TC

AX

50

50

120

25

25

120

UX2UX1 30 7

RV

RYRY

A

C

BD

φ125 φ160
AX

φ32 φ100

RV

RY RY UX230 7UX1

A

C

BD

AX

10A-2R SD     B        



2 10A 2798
10

A
-2

279910A 2
10A

-2

φ32 φ100

φ125 φ250

10A-2D SD     B   

A

F F

W FP

2-EE

P＋

H＋

LZ＋

W＋

ZM＋ ×2

AFP

J J

KK KK

A

C

BD

A WF YP

2-EE

P＋

H＋

LP＋

WF＋
ZM＋ ×2

AYP

J J

KK KK

A

C

BD

32

40

50

63

80

100

125

140

160

180

200

250

F

10

10

10

10

16

16

FP

34

34

34

34

43

43

H

30

30

30

33

31

31

37

43

43

43

43

55

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

LP

127

143

143

143

143

169

LZ

126

126

126

129

153

153

P

58

58

58

61

67

67

73

85

85

85

85

109

W

15

15

15

15

19

19

WF

35

41

41

41

41

48

YP

27

29

29

29

29

30

ZM

156

156

156

159

191

191

197

225

225

225

225

265

J

38

38

38

38

45

45

45

50

50

50

50

57

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

A

22 19

24 21

32 28

32 28

40 36

40 36

54 49

72 67

72 67

72 67

72 67

84 79

※A 　

mmmm



2 10A 2800
10

A
-2

280110A 2
10A

-2

63 2.4

3

61.5

96.5 25.5

96.5 69.5

Rc3/8

111.5 84.5

  

●

A

C

BD

63

RY RY
RV

2.4

3

61.5

96.5 25.5

96.5 69.5

Rc3/8

111.5 84.5

30UX1

UX2

A

C

BD

40

50

63

80

100

RV

72

82

94

110

120

RY

36

41

47

55

60

UX1

5

5

6

4

4

UX2

5

5

6

4

4

φ40 φ100

φ40 φ100

10A-2V2 SD     B        

TA

AX

10A-2K2 SD     B              

18.5 22

DIN

63 2.4

MIN28
MAX39

37
63

10.513
84.5 25.5

11012

25

Rc3/8

35
18.5

8

23
12

61.5

MIN28
MAX39

10.5
52.5 57.5

110

DIN

12

Rc3/8

23
12

61.5

35
39

8 16.5

63

16.5
35

18.5 22

25
DIN

63 2.4

37

35 18.5

MIN28
MAX39

63

10.5
84.5 57.5

14212 12

23
12

61.5

Rc3/8

25

3763
35 18.5

MIN28
MAX39

18.5 22

25
DIN

63 2.4
10.5

99.5 72.5
17212 12

23
12

61.5

Rc3/8

25

3
3

mmmm



2 10A 2802
10

A
-2

280310A 2
10A

-2

●

10A−2A1
10A−2A2

10A−2RA1
10A−2RA2  TA TC

       

SD・LB・FA・TA・TC

1 2 n

 (mm)

10A−2A1
φ32・φ40・φ50・φ63・φ80・φ100・φ125・φ140・φ160・φ180・φ200・φ250

10A−2RA1,10A−2A2,10A−2RA2
φ32・φ40・φ50・φ63・φ80・φ100・φ125・φ140・φ160

−Y J10A−2RA1 B−−−TA 63 B 50 AH 2

●

CB, CD ,TA,TC

       

10A−2Q1・10A−2RQ1
SD・LB・FA・FB・CA CC ・CB CD ・TA・TC
10A−2Q2・10A−2RQ2
SD・LB・FA・TA・TC

1 2 n

−Y J10A−2RQ1 B−＋ −CB 40 B 50 AH 2

※

※

50

10A−2Q1
10A−2Q2

10A−2RQ1
10A−2RQ2

φ32・φ40・φ50・φ63・φ80・φ100・φ125・φ140・φ160・φ180・φ200・φ250

φ32・φ40・φ50・φ63・φ80・φ100・φ125・φ140・φ160

Conex

J
JN
JK

T T
Y Y
S S
 F F F

Conex

J
JN
JK

T T
Y Y
S S
 F F F

B
H
N

B

H
R

N

B
R
N

1 2

1 (mm)

2 (mm)

0.1～1MPa
50～700/s
1.5MPa

−10～＋70

10A−2A1 10A−2RA1
φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160・φ180・φ200・φ250

φ32・φ40・φ50・φ63・φ80・
φ100・φ125・φ140・φ160

φ32～φ63 R 14mm・H 13mm
φ80・φ100 14mm φ125 R 17mm・H 15mm

φ140・φ160 20mm

φ32～φ63 R 14mm・H 13mm
φ80・φ100 15mm φ125 R 17mm・H 15mm

φ140・φ160 20mm
φ32～φ100 14mm φ125 16mm
φ140～φ200 19mm φ250 21mm

 

                       (mm)

10A−2A2 10A−2RA2

2
1

12

● ●

2 1

12

※ 1 2 1
1

  2 2
1

C
1 2

A D

1 2

B D
2

1

A C
1

2

B C
1

2

A
1

B
2 2

－ 1

A B

1
2

C B A

１2

D C B A

D C B A

D C B A

D C B A

C B A

C
B

A

C
B

A

0～50mm
JIS 6H/6g

SD,LB,FA,TA,TA/ ,TC,TC/

10A−2Q1

0.1～0.7MPa
50～700mm/s

1.5MPa
−10～＋70

                       (mm)

※

※ 125mm

JIS 6H/6g

SD,LB,FA,FB,CA, CC ,CB,CB/
CD , CD/ ,TA,TA/ ,TC,TC/ SD,LB,FA,TA,TA/ ,TC,TC/

φ32・φ40・φ50・φ63・φ80・φ100・φ125・φ140・φ160

φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160・φ180・φ200・φ250

φ32～φ100 14mm φ125 16mm
φ140～φ200 19mm φ250 21mm

φ32～φ63 R 14mm・H 13mm
φ80・φ100 14mm φ125 R 17mm・H 15mm

φ140・φ160 20mm
φ32～φ100 14mm φ125 16mm
φ140～φ200 19mm φ250 21mm

φ32～φ63 R 14mm・H 13mm
φ80・φ100 14mm φ125 R 17mm・H 15mm

φ140・φ160 20mm

10A−2RQ1
φ32・φ40・φ50・φ63・φ80・
φ100・φ125・φ140・φ160

10A−2Q2
φ32・φ40・φ50・φ63・φ80・φ100・
φ125・φ140・φ160・φ180・φ200・φ250

10A−2RQ2
φ32・φ40・φ50・φ63・φ80・
φ100・φ125・φ140・φ160



2 10A 2804
10

A
-2

280510A 2
10A

-2

φ32 φ100

φ125 φ250 10A 2A1
φ125 φ160 10A 2RA1

10A-2A1   SD     B   
10A-2RA1 SD     B        

mmmm

0 50mm

0 50mm

10E

RR

BB

F J J F

BB

H＋
LT＋

2− D

2−EE 5
FPFPA W

5
SJ

h

SAP＋
ZJ＋ ×2

MMB

 B1

KK

2×4−DD

KK

 B1

 SW

h

MM

B

SD

A

C

BD

h

A

VF

WF YP P＋ YP

VF

VX SA SJ

h

ZJ＋ ×2

2−EE2×4−DD
10

RR

RE

E

J H＋ J
LP＋BB BB

MMB

 B1

 D

KK

2−

B

MM

 B1

 SW

KK

SD

A

C

BD

φ32

φ40

φ50

φ63

φ80

φ100

φ125

φ140

φ160

φ180

φ200

φ250

B

φ24

φ30

φ34

φ34

φ39

φ39

φ46

φ55

φ55

φ55

φ55

φ60

D

10

13

19

19

22

22

27

36

36

36

36

41

DD

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

B1

17

19

22

22

27

27

36

50

50

50

50

60

FP

34

34

34

34

43

43

−

−

−

−

−

−

H

30

30

30

33

31

31

37

43

43

43

43

55

h

6

7

10

10

12

12

16

20

20

20

20

22

F

10

10

10

10

16

16

−

−

−

−

−

−

BB

7

7

7

9

10

10

13

16

16

16

16

19

A

22

24

32

32

40

40

54

72

72

72

72

84

φ32

φ40

φ50

φ63

φ80

φ100

φ125

φ140

φ160

φ180

φ200

φ250

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

J

38

38

38

38

45

45

45

50

50

50

50

57

MM

φ12

φ16

φ22

φ22

φ25

φ25

φ32

φ40

φ40

φ40

φ40

φ45

RR

□33

□37

□47

□56

□70

□84

□104

□123

□134

□156

□163

□202

LT

126

126

126

129

153

153

−

−

−

−

−

−

P

58

58

58

61

67

67

73

85

85

85

85

109

SA

75

80

85

85

85

85

95

95

95

95

95

100

SD

φ35

φ40

φ45

φ45

φ50

φ50

φ56

φ70

φ70

φ70

φ70

φ80

SJ

10

11

14

14

17

17

21

25

25

25

25

27

SW

32

36

41

41

46

46

50

65

65

65

65

75

W

15

15

15

15

19

19

−

−

−

−

−

−

ZJ

226

232

240

243

274

274

289

319

319

319

319

364

RE

−

−

−

−

−

−

□65

□76

□76

□76

□76

□90

LP

−

−

−

−

−

−

127

143

143

143

143

169

VF

−

−

−

−

−

−

21

25

25

25

25

30

VX

−

−

−

−

−

−

11

15

15

15

15

20

WF

−

−

−

−

−

−

35

41

41

41

41

48

YP

−

−

−

−

−

−

27

29

29

29

29

30



2 10A 2806
10

A
-2

280710A 2
10A

-2

φ32 φ100

φ125 φ160

10A-2A2   SD     B   
10A-2RA2 SD     B        

0 50mm

0 50mm

2−EE

UFPP＋FPA W
5

WG

h

ZG＋

n

10E

RR

BB
F J H＋ J F

LT＋ BB

2×4−DD

MMB

KK

 B1

 D 2−

SQ

DG
 C1

A

C

BD

h

A

VF

WF YP P＋ YP FG n
ZG＋

2−EE

WG

10

RR

RE

E 14

J H＋ J
LP＋BB BB

2×4−DD

MMB

 B1

 D
2−

KK
RE

SQ

DG
 C1

A

C

BD

φ32

φ40

φ50

φ63

φ80

φ100

φ125

φ140

φ160

B

φ24

φ30

φ34

φ34

φ39

φ39

φ46

φ55

φ55

D

10

13

19

19

22

22

27

36

36

C1

19

19

29

29

32

32

36

46

46

DD

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

M12×1.5

M16×1.5

M16×1.5

DG

M12×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M24×1.5

M30×2

M30×2

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

B1

17

19

22

22

27

27

36

50

50

F

10

10

10

10

16

16

−

−

−

BB

7

7

7

9

10

10

13

16

16

A

22

24

32

32

40

40

54

72

72

φ32

φ40

φ50

φ63

φ80

φ100

φ125

φ140

φ160

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

J

38

38

38

38

45

45

45

50

50

MM

φ12

φ16

φ22

φ22

φ25

φ25

φ32

φ40

φ40

n

10

10

13

13

16

16

19

24

24

RR

□33

□37

□47

□56

□70

□84

□104

□123

□134

LT

126

126

126

129

153

153

−

−

−

P

58

58

58

61

67

67

73

85

85

□8

□8

□11

□11

□14

□14

□17

□19

□19

SQ U

7

7

7

7

10

10

−

−

−

W

15

15

15

15

19

19

−

−

−

WG

77

77

80

80

88

88

103

118

118

ZG

141

141

141

144

172

172

162

184

184

h

6

7

10

10

12

12

16

20

20

FP

34

34

34

34

43

43

−

−

−

H

30

30

30

33

31

31

37

43

43

FG

−

−

−

−

−

−

20

27

27

RE

−

−

−

−

−

−

□65

□76

□76

LP

−

−

−

−

−

−

127

143

143

−

−

−

−

−

−

21

25

25

VF WF

−

−

−

−

−

−

35

41

41

YP

−

−

−

−

−

−

27

29

29

mmmm



2 10A 2808
10

A
-2

280910A 2
10A

-2

φ32 φ100

φ125 φ250 10A 2Q1
φ125 φ160 10A 2RQ1

10A-2Q1   SD     B   1  2
10A-2RQ1 SD     B   1  2     

/

10E
RR

MMB

 B1

 D

2×4−DD
PPP＋ 1＋ 2FPA W

5
P＋ 1

ZJ＋ 1×2 ＋ 2

4−EE

H＋ 1 K

BB

F J H＋ 1＋ 2 J J

LL＋ 1×2 ＋ 2

4−

h

KK

BB

A

C

BD

VF

A
h

WF YP P＋ 1＋ 2 PP P＋ 1

ZJ＋ 1×2 ＋ 2

4−EE2×4−DD
10

E
RR
RE J

H＋ 1
＋ 2 J J H＋ 1 K

BB LL＋ 1×2 ＋ 2 BB
14

MMB

 B1

4−

KK

 D

A

C

BD

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

D

10

13

19

19

22

22

27

36

36

36

36

41

DD

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

B1

17

19

22

22

27

27

36

50

50

50

50

60

FP

34

34

34

34

43

43

−

−

−

−

−

−

H

30

30

30

33

31

31

37

43

43

43

43

55

F

10

10

10

10

16

16

−

−

−

−

−

−

BB

7

7

7

9

10

10

13

16

16

16

16

19

A

22

24

32

32

40

40

54

72

72

72

72

84

32

40

50

63

80

100

125

140

160

180

200

250

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

J

38

38

38

38

45

45

45

50

50

50

50

57

K

25

25

25

25

32

32

32

38

38

38

38

50

MM

12

16

22

22

25

25

32

40

40

40

40

45

RR

□33

□37

□47

□56

□70

□84

□104

□123

□134

□156

□163

□202

LL

209

209

209

215

245

245

241

274

274

274

274

331

P

58

58

58

61

67

67

73

85

85

85

85

109

PP

48

48

48

48

54

54

54

58

58

58

58

60

W

15

15

15

15

19

19

−

−

−

−

−

−

ZJ

231

231

231

239

274

274

289

331

331

331

331

398

h

6

7

10

10

12

12

16

20

20

20

20

22

RE

−

−

−

−

−

−

□65

□76

□76

□76

□76

□90

VF

−

−

−

−

−

−

21

25

25

25

25

30

WF

−

−

−

−

−

−

35

41

41

41

41

48

YP

−

−

−

−

−

−

27

29

29

29

29

30

mmmm

1 2 2
φ32   1200mm 
φ40   1400mm 
φ50 φ63     1600mm 
φ80 φ100   1800mm 

1 2 2
φ125 φ250 2000mm 



2 10A 2810
10

A
-2

281110A 2
10A

-2

φ32 φ100

φ125 φ250 10A 2Q2
φ125 φ160 10A 2RQ2

10A-2Q2   SD     B   1  2
10A-2RQ2 SD     B   1  2     

/

2×4−DD

10E

RR

4−EE
PPFPA W

5

h

P＋ 1 FP AW
5

h

P＋ 2

ZJ＋ 1＋ 2

MM B

KK

 D

 B1

H＋ 1

BB

F J K K

BB

FJH＋ 2

LL＋ 1＋ 2
4−

MMB

KK

 B1

 D

A

C

BD

VFh
A WF YP

4−EE VF h

AWFYPPP P＋ 1P＋ 2

ZJ＋ 1＋ 2

10 10

KK

 D
 B1

MM B

J

BB

JH＋ 1

BB

KKH＋ 2

LL＋ 1＋ 2

E
RR

RE

14

2×4−DD

MMB

KK

 B1

 D
4−

A

C

BD

32

40

50

63

80

100

125

140

160

180

200

250

B

24

30

34

34

39

39

46

55

55

55

55

60

D

10

13

19

19

22

22

27

36

36

36

36

41

DD

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

M12×1.5

M16×1.5

M16×1.5

M16×1.5

M16×1.5

M20×1.5

EE

Rc1/8

Rc1/4

Rc1/4

Rc3/8

Rc3/8

Rc1/2

Rc1/2

Rc3/4

Rc3/4

Rc3/4

Rc3/4

Rc1

E

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

B1

17

19

22

22

27

27

36

50

50

50

50

60

FP

34

34

34

34

43

43

−

−

−

−

−

−

H

30

30

30

33

31

31

37

43

43

43

43

55

F

10

10

10

10

16

16

−

−

−

−

−

−

BB

7

7

7

9

10

10

13

16

16

16

16

19

A

22

24

32

32

40

40

54

72

72

72

72

84

32

40

50

63

80

100

125

140

160

180

200

250

KK

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

M36×2

M36×2

M36×2

M42×2

J

38

38

38

38

45

45

45

50

50

50

50

57

K

25

25

25

25

32

32

32

38

38

38

38

50

MM

12

16

22

22

25

25

32

40

40

40

40

45

RR

□33

□37

□47

□56

□70

□84

□104

□123

□134

□156

□163

□202

LL

206

206

206

212

248

248

228

262

262

262

262

324

P

58

58

58

61

67

67

73

85

85

85

85

109

PP

22

22

22

22

28

28

28

34

34

34

34

46

W

15

15

15

15

19

19

−

−

−

−

−

−

ZJ

236

236

236

242

286

286

298

344

344

344

344

420

h

6

7

10

10

12

12

16

20

20

20

20

22

RE

−

−

−

−

−

−

□65

□76

□76

□76

□76

□90

VF

−

−

−

−

−

−

21

25

25

25

25

30

WF

−

−

−

−

−

−

35

41

41

41

41

48

YP

−

−

−

−

−

−

27

29

29

29

29

30

mmmm

1 2 2
φ32   1200mm 
φ40   1400mm 
φ50 φ63     1600mm 
φ80 φ100   1800mm 

1 2 2
φ125 φ250 2000mm 



2 10A 2812
10

A
-2

281310A 2
10A

-2

4゜GW TV

KK

TW

CN

CN

CD TA

DK

ED

CACM

CF

           

   

   80 100

Conex

200

        

●
         
       ●Conex
       ● 1
       ●
       ●X FA 32 100
       ● 32 100

S

φ32 φ100

WW WW

X X

φ32 φ100 φ125 φ250

/ S

φ32

φ40

φ50 

φ63 

φ80

φ100

RSA-10-A

RSA-12-A

RSA-16-A

RSA-20-A

43

50

64

64

77

77

CA

φ10H9

φ12H9

φ16H9

φ16H9

φ20H9

φ20H9

CD

φ19

φ22

φ27

φ27

φ34

φ34

CF CM CN

φ12.9

φ15.4

φ19.4

φ19.4

φ24.4

φ24.4

DK ED

21

24

33

33

40

40

TA

10.5±0.1

12   ±0.1

15   ±0.1

15   ±0.1

18   ±0.1

18   ±0.1

TV

17

19

22

22

30

30

TW

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

KK

14

16

21

21

25

25

GW

0
−0.1

0
−0.1

0
−0.1

0
−0.1

0
−0.1

0
−0.1

14

16

19

19

23.5

23.5

57

66

83

83

100.5

100.5

28

32

38

38

47

47

/

36

40

45

45

60

60

71

80

80

80

80

80

50

67

67

72

72

78

78

84

88

88

88

88

93

75

75

75

80

80

84

84

90

94

94

94

94

99

100

84

84

89

89

90

90

96

100

100

100

100

105

125

92

92

97

97

97

97

103

107

107

107

107

112

150

100

100

105

105

103

103

109

113

113

113

113

118

200

117

117

122

122

115

115

121

125

125

125

125

130

250

134

134

139

139

128

128

134

138

138

138

138

143

300

150

150

155

155

140

140

146

150

150

150

150

155

350

167

167

172

172

153

153

159

163

163

163

163

168

400

184

184

189

189

165

165

171

175

175

175

175

180

450

200

200

205

205

178

178

184

188

188

188

188

193

500

217

217

222

222

190

190

196

200

200

200

200

205

32

40

50

63

80

100

125

140

160

180

200

250

WW
X X

1/3 ＋50

1/3 ＋55

1/4 ＋65

1/4 ＋71

1/4 ＋75

1/4 ＋80

/ Conex

61

61

61

61

61

61

71

80

80

80

80

80

50

70

70

75

75

82

82

88

92

92

92

92

97

75

80

80

85

85

90

90

96

100

100

100

100

105

100

90

90

95

95

99

99

105

109

109

109

109

114

125

100

100

105

105

107

107

113

117

117

117

117

122

150

110

110

115

115

115

115

121

125

125

125

125

130

200

130

130

135

135

132

132

138

142

142

142

142

147

250

150

150

155

155

149

149

155

159

159

159

159

164

300

170

170

175

175

165

165

171

175

175

175

175

180

350

190

190

195

195

182

182

188

192

192

192

192

197

400

210

210

215

215

199

199

205

209

209

209

209

214

450

230

230

235

235

215

215

221

225

225

225

225

230

500

250

250

255

255

232

232

238

242

242

242

242

247

32

40

50

63

80

100

125

140

160

180

200

250

WW
X X

1/2.5 ＋50

1/2.5 ＋55

1/3 ＋65

1/3 ＋71

1/3 ＋75

1/3 ＋80

Conex

mmmm

CAD/DATA10A-2/TA2    K 



2 10A 2814
10

A
-2

281510A 2
10A

-2

CF

RA

EW

CC A

D

ER

CD CA

KK

CF

RA

J

EW

CD A

CAER

CC

45゜

KK

CF

RA

CP CT EW

CW

CW

CC A

D

ER

CD CA

KK

KK

CF

RA

CP CT EW

CW

CW

CC

A

D

ER

CD CA
KK

KK

KK

e

e 5°
5°

B2

B1

KKFK

FM

FR

A FQ

FA FC FD

FJ

FN

KK

FN
KK

B2

B1

e

e 5°
5°

FM

FK

FR

FA

A FQ

FDFC

FJ

φ32 φ100

φ32 φ100

T
φ125 φ250

Y
φ125 φ250

φ32
F F

φ40 φ160

F
1 2

CA CB CC CD TA TC

/ T

32

40

50 

63 

80

100

125

140

160

180

200

250

23

25

33

41

51

69

81

RTA-10-A

RTA-12-A

RTA-16-A

RTA-20-A

RTA-27-A

RTA-36-A

RTA-42-A

A

55

60

60

85

100

125

144

CA

20

20

20

30

32

33

48

CC

R12

R12

R14

R19

20

28

36

ER

13

18

20

J

67

72

74

104

120

153

180

RA

24

24

28

36

49

62

79

CF

24

24

27

36

D

M10×1.25

M12×1.25

M16×1.5

M20×1.5

M27×2

M36×2

M42×2

KK

16

20

20

32

32

40

50

EW

12H9

14H9

14H9

20H9

20H9

28H9

36H9

CD

　0
−0.1

　0
−0.1

　0
−0.1

　0
−0.1

　0
−0.1

　0
−0.1

　0
−0.1

/ Y

32

40

50 

63 

80

100

125

140

160

180

200

250

23

25

33

41

56

74

86

RYA-10-1-A

RYA-12-1-A

RYA-16-A

RYA-20-A

RYA-27-A

RYA-36-A

RYA-42-A

A

55

60

60

85

100

125

144

CA

20

20

18

28

35

36.5

49

CC

R12

R12

R14

R19

R20

R27.5

R35

ER

  67

  71

  74

104

120

152.5

179

RA

24

24

28

36

40

55

70

CF

24

24

27

36

40

55

65

D

46

58

58

78

78

97

117

32

44

44

64

64

80

100

CP CT

  8

12

12

16

16

20

25

CW

M10×1.25

M12×1.25

M16×1.5

M20×1.5

M27×2

M36×2

M42×2

KK

16

20

20

32

32

40

50

EW

12

14

14

20

20

28

36

CD

＋1.5
＋0.5

＋1.5
＋0.5

＋1.5
＋0.5

＋1.5
＋0.5

＋1.5
＋0.5

＋1.5
＋0.5

＋1.5
＋0.5

H9
 f 8
H9
 f 8

H9
 f 8

H9
 f 8

H9
 f 8

H9
 f 8

H9
 f 8

/F F

32

40

50・63 

80

100

125

140・160

24.5

24

32

40

40

54

72

RFS-10T

RFS-12T

RFS-16T

RFS-20T080

RFS-20T100

RFS-27T

RFS-36T

A

17

19

22

27

27

36

50

B1

10

13

17

22

24

32

36

B2

1

1

1.5

2

2.5

2.5

3

e

31

33

43

53

56

74

96

FA

28

25.5

33

42

49

62

80

FC

 4

11

13

15

18

21

23

FD

  63

  69.5

  89

110

123

157

199

FJ

11

13.5

16

22

24

30

36

FK

25

32

40

50

64

76

88

FM

24

□19

□24

□30

□36

□46

□55

FN

  4.5

 7  

 8  

 9  

12   

14   

18   

FQ

2.5

3.5

4

5

6

7

8

FR

M10×1.25

M12×1.25

M16×1.5

M20×1.5

M20×1.5

M27×2

M36×2

KK

mmmm

CAD/DATA10A-2/TA2    K 



2 10A 2816
10

A
-2

281710A 2
10A

-2

KG
KD

BF BO

KC

BO

4-LB

BL BLXM
BT

BH

WM
BF BO

KC

KD

4-LB

BL BLXM
BT

BH

WM

TDE

10

2×2-GB

UM

TM

GH
GE

GT
GLGO GO

GKGM

GD GD

TDE

14

2×2-GB

UM

TM

GH GE

GT
GLGO GO

GKGM

GD GD

TDUW

10

2×2-GB

UM

E

TM

GH
GE

GT
GLGO GO

GKGM

GD GD

TD
UW

14

2×2-GB

UM

E

TM

GH GE

GT
GLGO GO

GKGM

GD GD

φ32 φ100

CB CD

φ125 φ250

φ32 φ100

TA

φ125 φ250

φ32 φ100

TC

φ125 φ250

CB CD

TA

TC

/CB CD

φ32

φ40

φ50 

φ63 

φ80

φ100

φ125

φ140

φ160

φ180

φ200

φ250

40

40

65

77

120

165

BCA-12-A

BCA-14-A

BCA-20-A

BCA-20-1-A

BCA-28-A

BCA-36-A

BF

35

45

60

75

115

140

BH

10   

12.5

15   

17.5

22.5

25   

BL

11.5

16.5

16.5

20

24.5

27.5

BO

8

8

12

14

23

28

BT

63

73

98

117

169

220

KC

  6.5

11.5

  6.5

17.5

22.5

25   

KD

 5

10

 5

114.5

167   

217.5

KG

φ9

φ11

φ14

φ18

φ22

φ26

LB

85

105

135

145

175

220

WM

65

80

105

110

130

170

XM 

/TA TC

32

40

50 

63 

80

100

125

140

160

180

200

250

□44

□50

□62

□76

□94

□114

□138

□156

□178

□200

□216

□270

59

73

86

99

118

137

164

192

214

236

252

315

70

86

99

111

137

155

183

219

236

264

282

349

BTA-16-A

BTA-25-A

BTA-25-1-A

BTA-25-2-A

BTA-36-A

BTA-45-A

E

9

12

14

18

22

26

GB

15

23

23

25

36

45

GD

10

15

17.5

20

22.5

25

GO

12

12

14

25

25

32

GT

16

25

25

25

36

45

TD

52

59

71

86

104

128

158

183

200

228

246

304

UW

56

72

92

115

170

210

GE

40

50

70

85

130

160

GH

80

110

120

145

185

215

GK

60

80

85

105

140

165

GL
GM

TA TC

44

50

63

76

95

114

139

156

178

200

216

270

55

63

76

88

114

132

158

183

200

228

246

304

TM

TA TC

76

100

113

126

145

164

189

228

250

272

288

360

87

113

126

138

164

182

208

255

272

300

318

394

UM

TA TC
 

H9
  e 9  

H9
  e 9  

H9
  e 9  

H9
  e 9  

H9
  e 9  

H9
  e 9  

mmmm

CAD/DATA10A-2/TA2    K 



2 10A 2818
10

A
-2

281910A 2
10A

-2

KK

CF

 D

A
CA CA CU

KK

CF

A
CA CA CU

 D

CB

4-KB T
L CA CU

RR
E

CA

4-KB T
L CA CU

RR
E

32

40

50

63

80

100

23

25

33

33

41

41

A

55

60

60

60

85

85

CA

24

24

28

28

36

36

CF

  6

  7

10

10

12

12

12

13

17

17

21

21

CU

24

24

27

27

36

36

D

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

KK

32

40

50

63

80

100

23

25

33

33

41

41

A

55

60

60

60

85

85

CA

24

24

28

28

36

36

CF

  6

  7

10

10

12

12

12

13

17

17

21

21

CU

24

24

27

27

36

36

D

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

KK

32

40

50

63

80

100

55

60

60

60

85

85

CA

□43

□49

□60

□74

□93

□110

E

  6

  7

10

10

12

12

12

13

17

17

21

21

CU

19

19

19

19

32

32

L

□33

□37

□47

□56

□70

□84

RR

8

8

8

8

11

11

T

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

KB

32

40

50

63

80

100

55

60

60

60

85

85

CA

□43

□49

□60

□74

□93

□110

E

  6

  7

10

10

12

12

12

13

17

17

21

21

CU

19

19

19

19

32

32

L

□33

□37

□47

□56

□70

□84

RR

8

8

10

13

18

18

T

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

KB

φ125 φ250

CB CA

D 

CF

KK

CB

A
CA

CF

KK

CA

A
CA

D 

CB

CA

4-KBT
L

RR
E

CA

CB

4-KBT
L

RR
E

32

40

50

63

80

100

23

25

33

33

41

41

A

55

60

60

60

85

85

CA

24

24

28

28

36

36

CF

24

24

27

27

36

36

D

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

KK

32

40

50

63

80

100

23

25

33

33

41

41

A

55

60

60

60

85

85

CA

24

24

28

28

36

36

CF

24

24

27

27

36

36

D

M10×1.25

M12×1.25

M16×1.5

M16×1.5

M20×1.5

M20×1.5

KK

32

40

50

63

80

100

□43

□49

□60

□74

□93

□110

E

19

19

19

19

32

32

L

□33

□37

□47

□56

□70

□84

RR

8

8

8

8

11

11

T

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

KB

32

40

50

63

80

100

□43

□49

□60

□74

□93

□110

E

19

19

19

19

32

32

L

□33

□37

□47

□56

□70

□84

RR

8

8

10

13

18

18

T

M6×1

M6×1

M6×1

M8×1.25

M10×1.25

M10×1.25

KB

φ125 φ250

CB CA

CA CB CB CA

mmmm



2 10A 2820
10

A
-2

AX

M4

 (M6 M10) M5
1 2N•m

 (M12 M27) M6
2 3N•m

M4
0.6 1N•m

1. 2
2. ON

2 5mm

    
3. A※135
4. 4

5.
UX


